Sr

10

1"

12

13

14

15

Questions

Sl S e

o Bda IS S il gy o ) 220 (S e i)

S IS (K pealy lin G S

s Jlaid 555 (e ES s

U LS il S a8 S8

22U LS il S S8 K S

e B S AC (S 238 i 58 ' S JeSe S i

SR s ) feas
S LS K €k

B i€ 5 )R zola el € 10 3500 5.0 o 08 ol S (oS S KIS Sy L1

Sup e 8 i e iy S S

PELYERY- S

= A Sle 1S s

UL Ll Sl S

S S 2l o stih el S g S

Answers Choice

sdd )
=y
&

Jdaots

A

sl S
PUERPRIRY

s

<

G

Ja b

EX
S
D.C —
dic
D/C —=
CD

DO®mP» DODP DOUP DOUP DOmP DOBP DO®P U0Wr DOB> 00D
>
lw)

ODOU» DOW > DOW> UOWP» UOW>
{3






